SANYMETAL HARDWARE CATALOG

Sanymetal®

A CRANE PLUMBING COMPANY

=

-]
L

vISIT US ON THE WORLD WIDE WEB AT www.sanymetal.com

2780 S. HWY. 1247
SOMERSET, KY 42501

FAX: 800-832-7994
PHONE: 606-678-2700

3-1-06 SNP-06



preface

Welcome to the Sanymetal Hardware Catalog, our March 2006 edition.

This edition takes precedence over all other previous editions.

If you are a first time viewer, we hope you will take the time to browse and
take note of our hardware items available for stock or replacement.

If you are familiar with our previous edition(s) of this publication, you will note
we have made many changes to update for new product available and to
delete or flag items which are being discontinued.

We hope you will be able to easily locate the items you are searching for.

To assist you we have grouped items into catagories and provided a listed
TABLE OF CONTENTS on page 1. We have also included a ALPHABETICAL INDEX
on page 29.

general notes:
1. HARDWARE ITEMS INCLUDE CURRENT STANDARD MOUNTING FASTENERS.
NON STANDARD MOUNTING FASTENERS MUST BE ORDERED AS SEPARATE ITEMS.
SEE FASTENER SECTION PAGES 24 - 26.
2. ITEMS SHADED ARE DISCONTINUED AND AFTER CURRENT STOCK
QUANTITIES ARE DEPLEATED THEY WILL NO LONGER BE AVAILABLE.

[ 3-1-06



TABLE OF CONTENTS

ZAMAC BRACKETS

ZAMAC BRACKET ASSEMBLIES

ALUMINUM BRACKETS

ALUMINUM BRACKET ASSEMBLIES
CONTINUOUS ALUMINUM BRACKETS
CONTINUOUS STAINLESS STEEL BRACKETS
STAINLESS STEEL BRACKETS

STAINLESS STEEL BRACKET ASSEMBLIES
ALCOVE BRACKETS

HINGED BRACKETS

HEADRAIL BRACKET ASSEMBLIES

CAPS, END

DOOR HINGE BRACKETS

DOOR HINGES

DOOR LATCHES / HANDLES

COAT HOOKS / BUMPERS

PUSH PLATES

DOOR PULLS

DOOR STOPS / KEEPERS

ZAMAC DOOR HARDWARE ASSEMBLIES
ALUMINUM DOOR HARDWARE ASSEMBLIES
STAINLESS STEEL DOOR HARDWARE ASSEMBLIES
B.E. & S.S. SHOES & SHOE ASSEMBLIES

PLASTIC LAMINATE SHOES & SHOE ASSEMBLIES
PHENOLIC & POLY SHOES & SHOE ASSEMBLIES
ALTERNATE PHEN & POLY SHOES & SHOE ASSYS
FASTENERS SHEET METAL SCREWS

3-1-06 1



SIZE

ZAMAC BRACKETS

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

3/4”

“U” BRACKET

00 1890 72

10

1!!

“U” BRACKET

00 1910 72

10

11/4”

“U” BRACKET

00 1940 72

A2

3/4”

ONE EAR

00 1640 72

.23

1!!

ONE EAR

00 1760 72

.25

1!!

ONE EAR, EXTRA LONG

00 1270 72

45

11/4”

ONE EAR

00 1840 72

.26

11/4”

ONE EAR, SHORT

00 1850 72

.20

11/4”

ONE EAR, EXTRA LONG

00 1310 72

45

3/ ”

TWO EAR

00 1620 72

.28

1!!

TWO EAR

00 1750 72

27

1!!

TWO EAR, EXTRA LONG

00 1260 72

40

1!!

TWO EAR, C-SCREEN

00 1280 72

40

ALCOVE CLIP
1" PANEL TO 1 1/4” PILASTER

ACADEMY B.E. & S.S. ONLY

00212572

.08

ALCOVE CLIP
1/8” OFFSET

00 8340 72

ALCOVE ANGLE
ACADEMY P-LAM & POLY ONLY

STAINLESS STEEL

00 2161 30

3-1-06




DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ONE EAR PANEL BRKT ASSY

2-1890 “U” BRACKET
2 - 1640 ONE EAR

01874072

.87

ONE EAR PANEL BRKT ASSY

2-1910 “U” BRACKET
2-1760 ONE EAR

01 5050 72

TWO EAR PANEL BRKT ASSY

2-1890 “U” BRACKET
2-1620 TWO EAR

01873072

TWO EAR PANEL BRKT ASSY

2-1910 “U” BRACKET
2-1750 TWO EAR

015030 72

11/4”

ONE EAR PILASTER BRKT
ASSY

2 -1840 ONE EAR

01 5230 72

11/4”

ONE EAR POST BRKT ASSY
2- 1850 ONE EAR

015240 72

1!)

C-SCREEN BRKT ASSY
2- 1280 TWO EAR, C-SCREEN

01543072

ALCOVE BRKT ASSY
FOR ACADEMY 3/4” PLAST LAM ONLY

2-2161 S.S. ANGLE ALCOVE BRKT
2-1640 ONE EAR BRKT

01537072

ALCOVE BRKT ASSY
FOR ACADEMY 1” S.S. OR B.E. ONLY

2 - 2125 ALCOVE BRKT
2-1760 ONE EAR BRKT

015360 72

ALCOVE BRKT ASSY
FOR ACADEMY 1” PLASTIC LAM ONLY

2-2161 S.S. ANGLE ALCOVE BRKT
2-1760 ONE EAR BRKT

015380 72

ALCOVE BRKT ASSY
FOR 1” PLASTIC LAM, B.E., & S.S.

4 - 8340 ALCOVE BRKT
2-1760 ONE EAR BRKT

015390 72

3-1-06




SIZE

ALUMINUM BRACKETS

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

3/4”

“‘U” BRACKET

00 4033 89

.07

1!)

“U” BRACKET

00 4023 88

.07

3/4”

ONE EAR

00 4035 89

1

1!)

ONE EAR

00 4031 88

14

1!)

ONE EAR, SHORT

00 4531 89

.09

1!!

ONE EAR, EXTRA LONG

00 4131 89

15

11/4”

ONE EAR

00 4060 88

A3

11/4”

ONE EAR, SHORT

00 4051 89

.09

11/4”

ONE EAR, EXTRA LONG

00 4160 89

15

3/ ”

TWO EAR

00 4034 89

A2

1!)

TWO EAR

00 4024 88

A7

1!!

TWO EAR, EXTRA SHORT

00 4524 89

.10

1!!

TWO EAR, EXTRA LONG

00 4124 89

A7

TWO EAR, C-SCREEN

DOUBLE HEIGHT

00 4224 88

.32

ALCOVE 1" PANEL TO 1 1/4” PILASTER
ACADEMY B.E. & S.S. ONLY

ZAMAC

00212572

ALCOVE 1" PANEL TO 1 1/4” PILASTER
ACADEMY B.E. & S.S. ONLY

00 4562 89

ALCOVE 1" PANEL TO 1 1/4” PILASTER
ACADEMY B.E. & S.S. ONLY
DOUBLE HEIGHT

00 4564 89

ALCOVE 1" PANEL TO 1 “ PILASTER
“H” BRACKET POLY ONLY
ALUMINUM

00 4070 88

“‘U” BRACKET DOUBLE HEIGHT

00 4223 89

11!

ONE EAR DOUBLE HEIGHT

00 4231 89

11/4”

ONE EAR DOUBLE HEIGHT

00 4260 89

3-1-06




DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ONE EAR PANEL BRKT ASSY

2-4023 “U” BRACKET
2-4031 ONE EAR

01 5031 88

.62

TWO EAR PANEL BRKT ASSY

2-4023 “U” BRACKET
2-4024 TWO EAR

01 5023 88

11/4”

ONE EAR PILASTER BRKT
ASSY

2 -4060 ONE EAR

01 5060 88

11/4”

ONE EAR POST BRKT ASSY

2 - 4051 ONE EAR, SHORT

01 5051 88

C-SCREEN BRKT ASSY
2- 4224 TWO EAR, C-SCREEN
DOUBLE HEIGHT

01 5224 88

ALCOVE BRKT ASSY
FOR ACADEMY 1” S.S. OR B.E. ONLY

2-2125 ALCOVE BRKT
2-4031 ONE EAR BRKT

015125 88

ALCOVE BRKT ASSY
FOR 1”S.S. ORB.E. ONLY

4 - 4562 ALCOVE BRKT
2-4031 ONE EAR BRKT

01 4562 88

ALCOVE BRKT ASSY
FOR 1” PLASTIC LAMINATE

2-2161 S.S. ANGLE ALCOVE BRKT
2-4031 ONE EAR BRKT

01 5080 88

3-1-06




CONTINUOUS ALUMINUM BRACKETS

DESCRIPTION PRICE ($) | WT (LBS) ILLUSTRATION

‘H” BRACKET 54" LGT 00 8070 88
1”70 1"

“U” BRACKET 57 1/2”LGT 00 8066 88
“U” BRACKET 57 1/2”LGT 00 8023 88
“U” BRACKET 54”LGT 00 8423 88

ONE EAR 57 1/2’LGT 00 8031 88
ONE EAR 54"LGT 00 8431 88

ONE EAR 57 1/2"LGT 00 8060 88

ONE EAR, SHORT 57 1/2”LGT 00 8051 88

TWO EAR 57 1/2” LGT 00 8067 88
TWO EAR 57 1/2” LGT 00 8024 88
TWO EAR 54’ LGT 00 8424 88

TWO EAR 41" LGT 00 8224 88
FOR 1" C-SCREEN

[+] [+]

ALUMINUM 57 1/2” ALUMINUM 54"
STAINLESS STEEL 577 STAINLESS STEEL 547

ALUMINUM 41~
STAINLESS STEEL 417

6 3-1-06



CONTINUOUS STAINLESS STEEL BRACKETS

DESCRIPTION PRICE ($) | WT (LBS) ILLUSTRATION

“H” BRACKET 54”LGT 00 8470 30
1" TO 1"

ANGLE BRKT, PAIR 57" LGT 01 7556 30

8166 ” |“U” BRACKET 57"LGT 00 8166 30

8123 ” |“U” BRACKET 57’LGT 00 8123 30
8423SS ” |“U” BRACKET 54”LGT 00 8423 30

8169 ONE EAR 57°LGT 00 8169 30

8131 ONE EAR 57°LGT 00 8131 30

8431SS ” ONE EAR 54" LGT 00 8431 30

8531 ONE EAR, SHORT 57"LGT 00 8531 30

8331 " |ONE EAR, SHORT 54"LGT 00 8331 30

11/4” |ONE EAR 57" LGT 00 8160 30

ONE EAR, SHORT 57LGT 00 8151 30

8167 TWO EAR 57°LGT 00 8167 30

8124 TWO EAR 57°LGT 00 8124 30

8424SS ” | TWO EAR 54"LGT 00 8424 30

8234 TWO EAR 41" LGT 00 8234 30
FOR 3/4” PHENOLIC C-SCREEN ONLY

TWO EAR 41 LGT 00 8142 30
FOR 1" C-SCREEN

3-1-06 7



DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

“U” BRACKET

00 6723 30

12

1!)

“U” BRACKET, EXTRA LONG

00 6823 30

18

3/4”

ONE EAR

00 6735 30

.26

1!)

ONE EAR

00 6731 30

.26

11/4”

ONE EAR

00 6760 30

.28

11/4”

ONE EAR, EXTRA SHORT

00 6051 30

.23

3/4”

TWO EAR

00 6734 30

.34

1!)

TWO EAR

00 6724 30

.34

ANGLE BRACKET, ALCOVE

00 2161 30

.04

ALCOVE CLIP, 1/8” OFFSET

00 8349 30

XX

BRKT, 1/4” OFFSET STRAP

00 7250 30

15

ANGLE BRACKET
PAIR

01 7252 30

.25

ANGLE BRACKET, SHORT
PAIR

017251 30

14

“U” BRACKET DOUBLE HEIGHT

00 7633 30

T

“U” BRACKET DOUBLE HEIGHT

00 7726 30

1/2”

ONE EAR DOUBLE HEIGHT

00 7635 30

3/4”

ONE EAR DOUBLE HEIGHT

00 7735 30

17

ONE EAR DOUBLE HEIGHT

00 7731 30

11/4”

ONE EAR DOUBLE HEIGHT

00 7760 30

1/2”

TWO EAR DOUBLE HEIGHT

00 7634 30

3/4”

TWO EAR DOUBLE HEIGHT

00 7734 30

17

TWO EAR DOUBLE HEIGHT

00 7724 30

11/4”

TWO EAR DOUBLE HEIGHT

00 7765 30

BRKT, 1/4” OFFSET STRAP
DOUBLE HEIGHT

00 7552 30

BRKT, STRAIGHT STRAP
DOUBLE HEIGHT

00 7424 30

ANGEL BRACKET PAIR
DOUBLE HEIGHT

01 7524 30

3-1-06




STAINLESS STEEL BRACKET ASSEMBLIES

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

ONE EAR PANEL BRKT ASSY

2-6723"U” BRACKET
2-6731 ONE EAR

016631 30

.97

6723 ﬂ,ﬁ

TWO EAR PANEL BRKT ASSY

2-6723 “U” BRACKET
2-6724 ONE EAR

016624 30

11/4”

ONE EAR PILASTER BRKT ASSY
2 - 6760 ONE EAR

01 6660 30

1!)

ALCOVE BRKT ASSY acapseE.ass. onLy
2-6731 ONE EAR
2 - 2125 ALCOVE BRKT cHroMmE PLATED zaMAC

016125 30

ALCOVE BRKT ASSY acapp. &poLy onLy
2-6731 ONE EAR
2 -2161 ALCOVE BRKT

01 6680 30

C-SCREEN BRKT ASSY
2-7734 TWO EAR DOUBLE HEIGHT

01 7665 30

C-SCREEN BRKT ASSY
2-7724 TWO EAR  DOUBLE HEIGHT

01 7865 30

ONE EAR PANEL BRKT ASSY

2-7633 “U” BRKT DOUBLE HEIGHT
2-7635 ONE EAR DOUBLE HEIGHT

017535 30

ONE EAR PANEL BRKT ASSY

2-7726 “U” BRKT DOUBLE HEIGHT
2-7731 ONE EAR DOUBLE HEIGHT

01773130

TWO EAR PANEL BRKT ASSY

2-7633"U"BRKT DOUBLE HEIGHT
2-7634 TWO EAR DOUBLE HEIGHT

01 7534 30

TWO EAR PANEL BRKT ASSY

2-7726"U"BRKT DOUBLE HEIGHT
2-7724 TWO EAR DOUBLE HEIGHT

017724 30

ALCOVE BRKT ASSY
FOR PHENOLIC ONLY

4 -7552 1/4” OFFSET STRAP DBL HGT
2-7635 ONE EAR DOUBLE HEIGHT

01 7552 30

ONE EAR PILASTER BRKT ASSY
2-7731 ONE EAR DOUBLE HEIGHT

01 7560 30

" | ONE EAR PILASTER BRKT ASSY

2-7760 ONE EAR DOUBLE HEIGHT

01 7760 30

3-1-06




ALCOVE BRACKETS

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ALCOVE CLIP

1" PANEL TO 1 1/4” PILASTER
ACADEMY B.E. & S.S. ONLY
ZAMAC

00212572

.09

ALCOVE CLIP

1/8” OFFSET
ZAMAC

00 8340 72

ALCOVE CLIP

1/8” OFFSET
FOR ACADEMY B.E. OR S.S. ONLY
ALUMINUM

00 4562 88

ALCOVE CLIP

1/8” OFFSET DOUBLE HEIGHT
FOR ACADEMY B.E. OR S.S.
ALUMINUM

00 4564 88

ALCOVE CLIP

1/8” OFFSET
STAINLESS STEEL

00 8349 30

ALCOVE 17 PANEL TO 1 “ PILASTER
“H” BRACKET POLY ONLY
ALUMINUM

00 4070 88

ANGLE BRACKET, ALCOVE

FOR ACADEMY P.L. OR POLY ONLY
STAINLESS STEEL

00 2161 30

BRKT, 1/4” OFFSET STRAP

00 7250 30

BRKT, 1/4” OFFSET STRAP

DOUBLE HEIGHT
STAINLESS STEEL

00 7552 30

HINGED BRACKETS

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

HINGED BRACKET

FOR HEADRAIL
CHROME PLATED STEEL

009020 72

.35

HINGED BRACKET

FOR 1” PANEL
CHROME PLATED STEEL

00 9025 72

10

1 1/4” |HINGED BRACKET

FOR 1 1/4” PILASTER
CHROME PLATED STEEL

00 9026 72

3-1-06




DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

HEADRAIL BRACKET ASSY
CONNECTS HEADRAIL TO WALL

1-1820 HEADRAIL BRKT

01182072

.21

HEADRAIL BRACKET ASSY
CONNECTS HEADRAIL TO HEADRAIL

1-1820 HEADRAIL BRKT

01182272

HEADRAIL PROFILES

HEADRAIL IS AVAILABLE IN STOCK LENGHTS
OF 627, 90" AND 120”. NOTE: ONLY 62" AND
90” LENGHTS CAN SHIP BY FedEx OR ups.

HEADRAIL “U” BRACKET (BRKY ONLY)

ALL CONNECTS: HEADRAIL TO HEADRAIL AND
HEADRAIL TO WALL

1- 6723 HEADRAIL “U” BRKT  STAINLESS STEEL

00 6723 30

END CAPS

DESCRIPTION

SANY #

PRICE ($)

H/R 154 H/R 153
11/4 1

WT (LBS)

1

ILLUSTRATION

HEADRAIL END CAP
FOR #137 AND #154 HEADRAIL
CROME PLATED ZAMAC

00 6660 72

.07

7980SS

HEADRAIL END CAP
FOR #153 HEADRAIL
STAINLESS STEEL

00 7980 30

HEADRAIL END CAP
FOR #137 AND #153 HEADRAIL
BLACK PLASTIC

00 7980 33

HEADRAIL END CAP
FOR #137 HEADRAIL
BLACK PLASTIC

00 7990 33

POST CAP
FOR 1 1/4” SQUARE POST
BLACK PLASTIC

00 0313 33

3-1-06

52
o
b




DOOR HINGE BRACKETS

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

TOP HINGE BRACKET
FOR 1 1/4 THICK PLASTIC LAM PIL & 1 1/4 POST

CHROME PLATED ZAMAC

00 736172

.25

BOTTOM HINGE BRACKET
FOR 1 1/4 THICK PLASTIC LAM PIL & 1 1/4 POST

CHROME PLATED ZAMAC

00 7360 72

7780

TOP HNG BRKT CHROME PLATED ZAMAC
FOR 1 1/4 THICK B.E. & S.S. PIL

00 7780 72

7780SS

TOP HINGE BRKT STAINLESS STEEL

00 7780 30

7770

BOTTOM HNG BRKT CHR PLTD ZAMAC
FOR 1 1/4 THICK B.E. & S.S. PIL

00 777072

7770SS

BOTTOM HINGE BRKT STAINLESS STEEL

00 7770 30

DOOR HINGES

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

TOP HINGE PIN DELRIN

00 7774 33

.01

TOP HINGE PIN STAINLESS STEEL

00 7725 30

.07

TOP HINGE CASTING
FOR PLASTIC LAMINATE 1” DOOR

CHROME PLATED ZAMAC

00 6101 72

31

TOP HINGE CASTING
FORB.E. & S.S. 1 DOOR

CHROME PLATED ZAMAC

00 8044 72

BOTTOM DOOR HINGE ASSEMBLY
FOR 1” PLASTIC LAMINATE DOORS

CHROME PLATED ZAMAC

016100 72

12

BOTTOM DOOR HINGE ASSEMBLY
FOR 1”B.E. & S.S. DOORS

CHROME PLATED ZAMAC

017961 72

3-1-06




DOOR HINGES coNTINUED

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

STAINLESS STEEL HINGE SET

LEFT HAND INSWING OR
RIGHT HAND OUTSWING

01 7080 30
SPECIFY
DR AND PIL
THICKNESS
WITH ORDER

1.39

DOOR

é PILASTER

STAINLESS STEEL HINGE SET

RIGHT HAND INSWING OR
LEFT HAND OUTSWING

01 7081 30
SPECIFY
DR AND PIL
THICKNESS
WITH ORDER

DOOR

ALUMINUM HINGE SET
FOR POLY ONLY, 1" PIL TO 1" DOOR

LEFT HAND INSWING OR
RIGHT HAND OUTSWING

017191 88

PILASTER &
DOOR s

00717188

; :: piL 00719188

ALUMINUM HINGE SET
FOR POLY ONLY, 1" PIL TO 1" DOOR

RIGHT HAND INSWING OR
LEFT HAND OUTSWING

01718188

R
00717188

00718188 p

UNIVERSAL ALUM HINGE, SINGLE

USED AS THIRD HINGE ON 34, 35 AND 36"
POLY DOORS

00 7171 88

—

CONTINUOUS STAINLESS STEEL

PIANO HINGE  SPRING LOADED
LEFT HAND INSWING OR
RIGHT HAND OUTSWING

SPECIFY
DR AND PIL
THICKNESS

WITH ORDER

57 1/2” LENGTH 16 GA  1/8"PIN

00 9968 30

57 1/2” LENGTH 14GA 1/4"PIN

00 9949 30

54" LENGTH 16 GA 1/8”PIN

00 9965 30

CONTINUOUS STAINLESS STEEL

PIANO HINGE SPRING LOADED
RIGHT HAND INSWING OR
LEFT HAND OUTSWING

SPECIFY
DR AND PIL
THICKNESS

WITH ORDER

57 1/2” LENGTH 16 GA  1/8"PIN

00 9969 30

57 1/2” LENGTH 14GA 1/4"PIN

00 9939 30

54" LENGTH 16 GA 1/8”PIN

00 9966 30

CONTINUOUS ALUMINUM HINGE

56 1/2” LENGTH
SPRING LOADED

00 9967 89

3-1-06

13



DOOR LATCHES / HANDLES

DESCRIPTION SANY # PRICE ($) | WT (LBS)

LATCH PIN STAINLESS STEEL | 00 2017 30 .08
FOR 2000 SERIES CONCEALED LATCH

LATCH ASSY CHROME PLATED ZAMAC | 00 2068 72
FOR 2000 SERIES CONCEALED LATCH

2078SS |LATCH ASSY witH screw STAINLESS STEEL | 00 2078 30
FOR 2000 SERIES CONCEALED LATCH

LATCH ASSY witHscrRew CHR PLTD ZAMAC | 00 2078 72
FOR 8800 SERIES CONCEALED LATCH

SLIDE LATCH CHROME PLATED ZAMAC | 00 7431 72
SURFACE MOUNT 25/8” CENTER

NOTE: MEETS ADA REQUIREMENTS, DOES
NOT PROVIDE EMERGENCY ACCESS.

THROW LATCH ASSY CHROME PLATED | 01 7531 72
SURFACE MOUNT 31/2” CENTER

NOTE: MEETS ADA REQUIREMENTS, AND
PROVIDES EMERGENCY ACCESS.

1-5131 THROW LATCH
1-7501 DOOR PULL
1-5170 DOOR STOP
1-5180 LATCH KEEPER

THROW LATCH ONLY CHRPLTD BRASS | 00 5131 72
SURFACE MOUNT 3 1/2” CENTER

NOTE: MEETS ADA REQUIREMENTS, AND
PROVIDES EMERGENCY ACCESS.

SLIDE LATCH CAST STAINLESS STEEL 00 7331 30
SURFACE MOUNT 2 3/4” CENTER

NOTE: MEETS ADA REQUIREMENTS, AND
PROVIDES EMERGENCY ACCESS WITH;
7280 /7281 SS HINGES,

9968 / 9969 CONTINUOUS SS HINGES, OR
719177181 ALUMINUM HINGES.

SLIDE LATCH ALUMINUM 01713188
SURFACE MOUNT 3 1/2” CENTER

NOTE: MEETS ADA REQUIREMENTS, AND
PROVIDES EMERGENCY ACCESS WITH;
7080 /7081 SS HINGES,

9968 / 9969 CONTINUOUS SS HINGES, OR
7191 /7181 ALUMINUM HINGES.

14 3-1-06



COAT HOOKS / BUMPERS

PART # DESCRIPTION SANY # PRICE ($) | WT (LBS)

7810 |COAT HOOK AND BUMPER 007810 72 18
CHROME PLATED ZAMAC

7810SS | COAT HOOK AND BUMPER 00 7810 30 .22
CAST STAINLESS STEEL

5034 |DOOR BUMPER ASSY 00 5034 72 A1
CHROME PLATED ZAMAC

5034SZ | DOOR BUMPER ASSY 00 5034 88 A1
SATIN ZAMAC

5034SS | DOOR BUMPER ASSY 00 5034 30 A7
CAST STAINLESS STEEL

7820SZ | COAT HOOK AND BUMPER 00 7820 88
SATIN ZAMAC

COAT HOOK AND BUMPER 01 7267 30
STAINLESS STEEL

PUSH PLATES

DESCRIPTION PRICE ($) | WT (LBS) ILLUSTRATION

PUSH PLATE STAINLESS STEEL | 00 0530 30

PUSH PLATE STAINLESS STEEL | 00 7407 30
FOR 7431 AND 7231 SLIDE LATCHES

PUSH PLATE STAINLESS STEEL | 00 7408 30
FOR 7531 THROW LATCH

3-1-06 15



DOOR PULLS

PART # DESCRIPTION SANY # PRICE ($) | WT (LBS) ILLUSTRATION
7401 |DOOR PULL ASSY 25/8” CENTER | 01740172 15 /.----o
CHROME PLATED ZAMAC <S5
7401SS | DOOR PULL ASSY 25/8” CENTER | 00 7401 30 .16 <
CAST STAINLESS STEEL
7501 |DOOR PULL 31/2” CENTER | 00 7501 72 15
CHROME PLATED ZAMAC / LD
7501SZ | DOOR PULL 31/2’ CENTER | 00 7501 88 15 U
SATIN ZAMAC
7301 |DOOR PULL 23/4” CENTER | 00 7301 30 .09 "
CAST STAINLESS STEEL
PART # DESCRIPTION SANY # PRICE ($) WT (LBS) ILLUSTRATION
8861 |STOP AND KEEPER CRPLZAMAC |00 880172 .20
FOR B.E. & S.S. PILASTER
8800 AND 2000 SERIES CONCEALED LATCH
8801SS |S & K CAST STAINLESS STEEL | 00 8801 30 .27
8861 |STOP AND KEEPER CRPLZAMAC |00 886172 .22
FOR PLASTIC LAM PILASTER OR 1 1/4” POST
8800 AND 2000 SERIES CONCEALED LATCH
8861SS |S & K CAST STAINLESS STEEL | 00 8861 30 XX
5110 |INSWING S & K CHROME PLATED ZAMAC | 00 5110 72 .35
FOR PLASTIC LAM PILASTER OR 1 1/4” POST
WITH 7431 SLIDE LATCH
5210 |OUTSWING S & K CRPLZAMAC |00521072 .35
FOR PLASTIC LAM PILASTER OR 1 1/4” POST
WITH 7431 SLIDE LATCH
5310 |INSWING S & K CRPLZAMAC |00531072 XX
FOR B.E. & S.S. PIL WITH 7431 SLIDE LATCH
5410 |OUTSWING S & K CRPLZAMAC | 00541072 XX
FOR B.E. & S.S. PIL WITH 7431 SLIDE LATCH
7340 |OUTSWING S & K CAST STAINLESS STL | 00 7340 30 45
FOR POLY PILASTER OR 1 1/2” x 1" POST WITH
7331 SLIDE LATCH
7341 |INSWING S & K CAST STAINLESS STEEL 00 7341 30 .57
FOR POLY PILASTER OR 1 1/2” x 1" POST WITH
7331 SLIDE LATCH
7256 |OUTSWING S&K, 3/4” DR ss 00 7256 30 .18
7255 |OUTSWING S&K, 1” DR sTAINLESS STL | 00 7255 30 19
7269-6 | INSWING S & K, 3/4” DOOR _ss 00 7269 60 .19 L
7270-6 |OUTSWING S & K, 3/4” DOOR _ss 00 7270 60 .18 L
7270-8 |OUTSWING S & K, 1" DOOR ss 00 7270 80 .20 [
7269-A |FLATBACK S & K, INSWING ss 00 7269 30 A7 -9
7270-A |FLATBACK S & K, OUTSWING ss 00 7270 30 .18 l
16 3-1-06



PART #

DOOR STOPS /| KEEPERS coNTINUED

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

5170

STOP CHROME PLATED ZAMAC
FOR 7531 THROW LATCH

00 5170 72

.18

7320

STOP CAST STAINLESS STEEL
FOR 7331 SLIDE LATCH

00 7320 30

.22

5180

KEEPER CHROME PLATED ZAMAC
FOR 7531 THROW LATCH

00 5180 72

.10

7321

KEEPER, I/S  CAST STAINLESS STEEL
FOR 7331 SLIDE LATCH

00 7321 30

A3

2500

INSWING STOP / OUTSWING S&K

CHROME PLATED STEEL
FOR 7431 SLIDE LATCH WITH 1" DOOR AND 1 1/4” PIL

00 2500 72

15

2501

INSWING KEEPER

CHROME PLATED STEEL
FOR 7431 SLIDE LATCH WITH 1" DOOR AND 1 1/4” PIL

00 2501 72

.10

5240

FLATBACK S &K
CHROME PLATED STEEL
FOR 8800 AND 2000 SERIES LATCHES

00 5240 72

.21

5243

FLATBACK S &K
STAINLESS STEEL

00 5243 30

.24

1
W
3
\.-)

5140

FLATBACK S & K
CHROME PLATED ZAMAC
FOR INSWING DOOR WITH 7431 SLIDE LATCH

00 5140 72

.25

5260

FLATBACK S & K

CHROME PLATED ZAMAC
FOR OUTSWING DOOR WITH 7431 SLIDE LATCH

00 5260 72

.22

5260SS

FLATBACK S & K

CAST STAINLESS STEEL
FOR OUTSWING DOOR WITH 7331 SLIDE LATCH

00 5260 30

.26

5280

FLATBACK S & K

CHROME PLATED ZAMAC
FOR INSWING DOOR WITH 7531 THROW LATCH

00 5280 72

.24

5280SS

FLATBACK S & K
CAST STAINLESS STEEL
FOR INSWING DOOR WITH 7331 SLIDE LATCH

00 5280 30

.31

R

7236

INSWING STOP, 3/4” DR STAINLESS STL

00 7236 30

.22

7244

INSWING STOP, 1” DR ___STAINLESS STL

00 7244 30

.26

7278

KEEPER, INSWING
USE W/ 7236 & 7244 STOP STAINLESS STEEL

00 7278 30

12

7169

OUTSWING S&K, 1" DOOR & 1" PIL
ALUMINUM
FOR 7131 SLIDE LATCH

00 7169 88

43

INSWING S&K, 1" DOOR & 1” PIL
ALUMINUM
FOR 7131 SLIDE LATCH

007170 88

FLATBACK S & K ALUMINUM
FOR INSWING 1" DOOR W/ 7131 SLIDE LATCH
FOR POLY ONLY

00 8240 88

FLATBACK S & K ALUMINUM
F/ OUTSWING 1" DOOR W/ 7131 SLIDE LATCH
FOR POLY ONLY

00 8260 88

3-1-06

17



ZAMAC DOOR HARDWARE ASSEMBLIES

PART # DESCRIPTION SANY # PRICE ($) | WT (LBS) ILLUSTRATION
7401 |DOOR PULL ASSY 01740172 15 =
1-7401  DOOR PULL
5034 /  DOOR BUMPER / PULL ASSY 015034 72 .28 —~
7401
1-5034  DOOR BUMPER Q‘
1-7401 DOOR PULL i
5034
5034 |DOOR BUMPER ASSY 00 5034 72 A1
5034 |
1-5034  DOOR BUMPER
2000 |DOOR HDWR ASSY, PILASTER MTD 01 2000 72 1.39
FOR METAL CONC LATCH DR TO METAL PILS 2068 DOOR LATCH ASSY
1-2068 DOOR LATCH ASSY: LATCH PIN,
ESCUTCHEON AND HANDLE -
1-7774  TOP HINGE PIN 7774
1-7780  TOP HINGE BRACKET 7780
1-7770 BOTTOM HINGE BRACKET P — 7770
1-7810  COAT HOOK AND BUMPER '] 4
1-8801 STOP AND KEEPER i
7810 8801
2001 |DOOR HDWR ASSY, POST MOUNTED | 01 2001 72 1.30
FOR METAL CONCEALED LATCH DOOR 2068 DOOR LATCH ASSY
MOUNTED TO A POST AND CLOSING TO
A METAL PILASTER
1-2068 DOOR LATCH ASSY: LATCH PIN, ./ J .,
ESCUTCHEON AND HANDLE 7774
1-7774  TOP HINGE PIN 7361 7360
1-7361  TOP HINGE BRACKET
1-7360 BOTTOM HINGE BRACKET ) ——— 4
1-7810  COAT HOOK AND BUMPER 'i‘ “
1-8801 STOP AND KEEPER b4
7810 8801
74-Q |SLIDE LATCH DOOR HDWR ASSY 01574072 1.45
FOR 1” DOOR HINGED TO METAL PILASTER \)
1-2500 STOP/STOP AND KEEPER 2501
1-2501 KEEPER 2500
1-7431  SLIDE LATCH y
1-7774  TOP HINGE PIN \i: o
1-7780  TOP HINGE BRACKET =)
1-7770  BOTTOM HINGE BRACKET 7431 7774
1-7810  COAT HOOK AND BUMPER
=3
8 i —
u V e
7810
7780 7770
18 3-1-06




ZAMAC DOOR HARDWARE ASSYS cont

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

LATCH CONVERSION KIT

FOR CONVERTING CONCEALED LATCH
TO SURFACE MOUNTED 7431 SLIDE LATCH

1-2500
1-2501
2-7407
1-7431

STOP / STOP AND KEEPER
KEEPER

PUSH PLATE

SLIDE LATCH

017407 72

.89

_ 7407 7407

THROW LATCH DOOR HDWR ASSY

FOR 1" DOOR HINGED TO METAL PILASTER

1-5034
1-7531-A
1-7774
1-7780
1-7770
1-7810

BUMPER

THROW LATCH ASSY CP BRASS
TOP HINGE PIN

TOP HINGE BRACKET

BOTTOM HINGE BRACKET

COAT HOOK AND BUMPER

01141072

>

._) K
AL
"”;;;; 7531-ASSY

1“’

-d ¢4

7780 7770 7810

lh

THROW LATCH DOOR HDWR ASSY

FOR 1" DOOR HINGED TO PLASTIC LAMINATE
PILASTER OR 1 1/4” POST

1-5034
1-7531-A
1-7774
1-7361
1-7360
1-7810

BUMPER

THROW LATCH ASSY CP BRASS
TOP HINGE PIN

TOP HINGE BRACKET

BOTTOM HINGE BRACKET

COAT HOOK AND BUMPER

01141272

7774 7531-ASSY

7360 7810

INSWING DOOR HDWR

FOR PLASTIC LAM PILASTERS OR 1 1/4”

1-5110
1-7361
1-7360
1-7431
1-7774
1-7810

INSWING STOP AND KEEPER
TOP HINGE BRACKET
BOTTOM HINGE BRACKET
SLIDE LATCH

TOP HINGE PIN

COAT HOOK AND BUMPER

01574172

>k

7360

\4”';;;;

o3

7361

OUTSWING DOOR HDWR

FOR PLASTIC LAM PILASTERS OR 1 1/4”

1-5210
1-7361

OUTSWING STOP AND KEEPER
TOP HINGE BRACKET

BOTTOM HINGE BRACKET
DOOR PULL

SLIDE LATCH

TOP HINGE PIN

COAT HOOK AND BUMPER

01574372

3-1-06

5210 7361

7360

\f”,/;774
7401 -
7810 S

19




ALUMINUM DOOR HARDWARE ASSEMBLIES

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

INSWING DOOR HDWR

FOR POLY ONLY

1-7131 SLIDE LATCH
1-7820SZ COAT HOOK AND BUMPER
1-7169 INSWING STOP AND KEEPER

017241 88

XX

OUTSWING DOOR HDWR

FOR POLY ONLY

1-7131 SLIDE LATCH

1-7820SZ COAT HOOK AND BUMPER
1-7170 OUTSWING STOP AND KEEPER
1-7501SZ DOOR PULL

1-5034SZ BUMPER

01 7240 88

750182 5034SZ

STAINLESS STEEL DOOR HARDWARE ASSYS

PART # DESCRIPTION SANY# | PRICE ($) | WT (LBS) ILLUSTRATION
7401SS | DOOR PULL ASSY 00 7401 30 34 S )
CAST STAINLESS STEEL > T
A\
1-7401SS DOOR PULL 740188 \\ P
5034/ |DOOR BUMPER / PULL ASSY 01 5034 30 .51
7401SS | ¢ ST STAINLESS STEEL A4 \)‘- .
., \.\F‘ i
1-5034SS DOOR BUMPER 8 Q&N
1-7401SS DOOR PULL -~
5034SS 7401SS
5034SS | DOOR BUMPER ASSY 00 5034 30 A7 ‘\\
5034sS @ |
1-5034SS DOOR BUMPER \ )
2000SS | DOOR HDWR ASSY, PILASTER MTD 01 2000 30 "1.76 .
= e =~
FOR METAL CONC LATCH DR TO METAL PI- 2078SS DOOR LATCH ASSY
CAST STAINLESS STEEL _ .
'l v |
1-2078  LATCHPIN / 'Td ) '/‘,
1-2018SS ESCUTCHEON | L
1-2019SS HANDLE T 0SS -
1-7774  TOP HINGE PIN 7770SS
1-7780SS TOP HINGE BRACKET
1-7770SS BOTTOM HINGE BRACKET _
1-7810SS COAT HOOK AND BUMPER @ " . '
1-8801SS STOP AND KEEPERS Y
7810SS 8801SS
20 3-1-06




S.S. DOOR HDWR ASSYS CONTINUED

DESCRIPTION SANY# | PRICE ($) | WT (LBS)

INSWING DOOR HDWR 01731130 1.00

FOR PHENOLIC ONLY
FOR 3/4” DOOR TO 1” PILASTER
CAST STAINLESS STEEL

1-7331 SLIDE LATCH

1-7320 STOP

1-7321 INSWING KEEPER
1-7810SS COAT HOOK AND BUMPER

OUTSWING DOOR HDWR 017310 30

FOR PHENOLIC ONLY
FOR 3/4” DOOR TO 1" PILASTER
CAST STAINLESS STEEL

1-7331 SLIDE LATCH

1-7320 STOP

1-7301 PULL HANDLE

1-7810SS COAT HOOK AND BUMPER

INSWING DOOR HDWR 017321 30

FOR 1" DOOR TO 1" PILASTER
CAST STAINLESS STEEL

1-7331 SLIDE LATCH
1-7341 INSWING STOP KEEPER
1-7810SS COAT HOOK AND BUMPER

OUTSWING DOOR HDWR 01 7320 30

FOR 17 DOOR TO 1” PILASTER
CAST STAINLESS STEEL

1-7331 SLIDE LATCH

1-7340 OUTSWING STOP KEEPER
1-7301 PULL HANDLE

1-7810SS COAT HOOK AND BUMPER

INSWING DOOR HDWR 01733130

FOR 1" DOOR TO 1 1/4” PILASTER
CAST STAINLESS STEEL

1-7331 SLIDE LATCH

1-7320 STOP

1-7321 INSWING KEEPER
1-7810SS COAT HOOK AND BUMPER

OUTSWING DOOR HDWR 01 7330 30

FOR 1" DOOR TO 1 1/4” PILASTER
CAST STAINLESS STEEL

1-7331 SLIDE LATCH

1-7320 STOP

1-7301 PULL HANDLE

1-7810SS COAT HOOK AND BUMPER

3-1-06 21



B.E. & S.S. SHOES & SHOE ASSYS

22

3-1-06

SHOE ONLY #302 S.S. ACADEMY SHOE ASSY NORMANDIE SHOE ASSY CENTURY SHOE ASSY

PIL SANY # PRICE | WT SANY # PRICE | WT SANY # PRICE | WT SANY # PRICE | WT ILLUS-

IN $ | LBS $ | LBS $ | LBS $ | Les | TRATION

3| 003903 38 |01 3903 39 .72 |01 3903 69 1.08 |01 3903 83

4 |00 3904 30 46 |01 3904 39 .80 |01 3904 69 1.16 |01 3904 83

5 |00 3905 30 53 |01 3905 39 .87 |01 3905 69 1.23 |01 3905 83

6 |00 3906 30 59 |01 3906 39 .93 |01 3906 69 1.29 |01 3906 83

7 |00 3907 30 66 |01 3907 39 1.00 |01 3907 69 1.36 |01 3907 83

8 |00 3908 30 .73 |01 3908 39 1.07 |01 3908 69 1.43 |01 3908 83 ﬁ

9 |00 3909 30 81 |01 3909 39 1.15 |01 3909 69 1.51 |01 3909 83

1000 3910 30 .86 |01 391039 1.20 |01 3910 69 1.56 |01 3910 83 1.49| 3 HieH

12|00 3912 30 1.02 |01 3912 39 1.36 |01 3912 69 1.72|01 3912 83 1.65

14|00 3914 30 1.15|01 3914 39 1.49|01 3914 69 1.85|01 3914 83 1.78

18|00 3918 30 14301 3918 39 1.77 |01 3918 69 2.13|01 3918 83 2.06

24|00 3924 30 1.81 |01 3924 39 2.15|01 3924 69 2.51|01 3924 83 2.44

SCREW PACKS —mmp SCREW PK SCREW PK SCREW PK

INCLUDED WITH SHOE ASSYS #83354 # 83334 # 83314 -
00 3900 72 34 |003920 72 70 |00 3910 72 63

PLASTIC LAM SHOES & SHOE ASSYS

SHOE ONLY #302 S.S. ACADEMY SHOE ASSY NORMANDIE SHOE ASSY CENTURY SHOE ASSY

PIL SANY # PRICE | WT SANY # PRICE | WT SANY # PRICE | WT SANY # PRICE | WT ILLUS-

IN $ | LBS $ | LBS $ | LBS $ | Les | TRATION

3 |00 3603 30 36 |01 3603 39 1.06 |01 3603 39 1.06 |01 3603 83 1.06

4 |oo 3604 30 43 |01 3604 39 1.13|01 3604 39 1.13|01 3604 83 1.13

5 |00 3605 30 50 |01 3605 39 1.20 |01 3605 39 1.20 |01 3605 83 1.20

6 |00 3606 30 56 |01 3606 39 1.26 |01 3606 39 1.26 |01 3606 83 1.26

7 |00 3607 30 63 |01 3607 39 1.33|01 3607 39 1.33|01 3607 83 1.33

8 |00 3608 30 71 |01 3608 39 1.41 |01 3608 39 1.41 |01 3608 83 1.41 ﬁ

9 |00 3609 30 77 |01 3609 39 1.47 |01 3609 39 1.47 |01 3609 83 1.47

10|00 3610 30 .85 |013610 39 1.55|01 3610 39 1.55|01 3610 83 1.55| 3 HIGH

12|00 3612 30 .98 |01 3612 39 1.68 |01 3612 39 1.68|01 3612 83 1.68

14|00 3614 30 1.12 |01 3614 39 1.82 |01 3614 39 1.82|01 3614 83 1.82

18|00 3618 30 1.36 |01 3618 39 2.06 |01 3618 39 2.06 |01 3618 83 2.06

2400 3624 30 1.79|01 3624 39 2.49 01 3624 39 2.49 01 3624 83 2.49

SCREW PACKS ——mM8M8» SCREW PK SCREW PK SCREW PK

INCLUDED WITH SHOE ASSYS # 83334 # 83334 # 83324 -
00 3920 72 70 |00 3920 72 70 |00 3600 72 70




PHEN & POLY SHOES & SHOE ASSYS

. SHOE ONLY  #304S.S. ACADEMY SHOE ASSY -

PIL SANY # PRICE | WT SANY # PRICE | WT ILLUS-

IN $ | LBS $ |LBs TRATION

3 100 7203 30 .36 |01 7203 39 1.08

4 100 7204 30 43 1017204 39 1.14

5 100 7205 30 .53 |01 7205 39 1.19

6 100 7206 30 .57 |01 7206 39 1.32

7 100 7207 30 .65 |01 7207 39 1.37

8 100 7208 30 .73 |01 7208 39 1.46 /

9 100 7209 30 .79 101 7209 39 1.51 V

10100 7210 30 .84 1017210 39 1.59 4" HIGH

12100 7212 30 .98 1017212 39 1.73

14100 7214 30 1.09]01 7214 39 1.80

18100 7218 30 1.45]01 7218 39 2.16

24100 7224 30 1.95]01 7224 39 2.66

SCREW PACKS —— | SCREW PK

INCLUDED WITH SHOE ASSYS #83344 -
00 7200 30 71

ALT PHENOLIC & poLY SHOES & SHOE ASSYS

. SHOE ONLY  #304 S.S. ACADEMY SHOE ASSY -

PIL SANY # PRICE | WT SANY # PRICE | WT ILLUS-

IN $ | LBS $ |LBs TRATION

3 100 7603 30| 13.00| .53 J01 7603 39 .64

4 |00 7604 30| 13.00| .68 |01 7604 39 .79

5 100 7605 30| 13.00| .82 J01 7605 39 .93

6 100 7606 30| 13.00| .94 101 7606 39 1.05

7 100 7607 30 |20.00| 1.05)01 7607 39 1.16 /

8 100 7608 30 |20.00| 1.16 )01 7608 39 1.27 . .

9 100 7609 30| 20.00 | 1.28 01 7609 39 1.39 V

10100 7610 30| 20.00| 1.40]01 7610 39 1.51 4" HIGH

1200 7612 30 | 20.00| 1.64 ]101 7612 39 1.75

14|00 7614 30 | 27.00| 1.88 101 7614 39 1.99

18100 7618 30 | 27.00|2.35]101 7618 39 2.46

24100 7624 30| 27.00| 3.06 |01 7624 39 3.17

SCREW PACKS — | SCREW PK

INCLUDED WITH SHOE ASSYS #7600 -
00 7600 30 A1

11-15-05 23




PART #

FASTENERS SHEET METAL SCREWS

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

THEFT-PROOF CHROME PLATED SHEET METAL SCREW

M REQUIRES TO

OL BIT PART #276. SEE PAGE 28.

14 X 1/2 THEFT-PROOF CP SMS

00 4621 72

.010

14 X 2 THEFT-PROOF CP SMS

004631 72

.020

THEFT-PROOF STAINLESS STEEL SHEET METAL SCREW

M REQUIRES TO

OL BIT PART #2027. SEE PAGE 28.

10 X 5/8 THEFT-PROOF SS SMS

00 4481 30

.007

THEFT-PROOF STAINLESS STEEL SHEET METAL SCREW

M REQUIRES TO

OL BIT PART #276. SEE PAGE 28.

14 X 1/2 THEFT-PROOF SS SMS 00 4621 30 .010

14 X 2 THEFT-PROOF SS SMS 00 4631 30 .020
PHILLIPS HEAD CHROME PLATED SHEET METAL SCREW

10 X 3/4 PH CP SMS 004450 72 .007

12 X2 1/2 PH CP SMS FOR A-SCR & F-SCR 00 4590 72 .020

14 X 1/2 PH CP SMS 00 4650 72 .010

14 X2 PH CP SMS 00 4660 72 .020
ONE WAY HEAD CHROME PLATED SHEET METAL SCREW

10 X 3/4 OWH CP SMS 00442072 .007

14 X 1/2 OWH CP SMS 00 4620 72 .007

14 X 2 OWH CP SMS 00 4630 72 .020
PHILLIPS HEAD STAINLESS STEEL SHEET METAL SCREW

10 X 3/4 PH SS SMS 00 4450 30 .007

14 X 1/2 PH SS SMS 00 4650 30 .010

14 X 2 PH SS SMS 00 4660 30 .020
ONE WAY HEAD STAINLESS STEEL SHEET METAL SCREW

10 X 3/4 OWH SS SMS 00 4420 30 .007

14 X 1/2 OWH SS SMS 00 4620 30 .010

14 X 2 OWH SS SMS 00 4630 30 .020

24

3-1-06



PART #

FASTENERS TtHRU BOLTS

DESCRIPTION

PRICE ($) | WT (LBS)

ILLUSTRATION

THEFT -

PROOF CHROME PLATED THRU BOLT MF R

EQUIRES TOOL BIT PART #276. SEE PAGE 28.

3006

T/P CP BARREL NUT 3/16 X 5/8

00 3006 72 .007

3008

T/P CP MACHINE SCR #10-24 X 3/8

00 3008 72 .007

3007

T/P CP SHOULDER SCREW 3/16 X 3/4

00 3007 72 .007

3004

T/P CP SHOULDER SCR 3/16 X1 1/16

00 3004 72 .010

3010

T/P CP SHOULDER SCR 3/16 X 1 3/16

00 3010 72 .010

3005

T/P CP SHOULDER SCR 3/16 X 1 5/16

00 3005 72 .010

Yo

THEFT -

PROOF STAINLESS STEEL THRU BOLT M R

EQUIRES TOOL BIT PART #276. SEE PAGE 28.

3001SS

T/P SS BARREL NUT 3/16 X 1/2

00 3001 30 .007

3006SS

T/P SS BARREL NUT 3/16 X 5/8

00 3006 30 .010

3008SS

T/P SS MACHINE SCR  #10-24 X 3/8

00 3008 30 .007

Vv
9~

3009SS

T/P SS SHOULDER SCREW 3/16 X 1/2

00 3009 30 .007

3007SS

T/P SS SHOULDER SCREW 3/16 X 3/4

00 3007 30 .009

3004SS

T/P SS SHOULDER SCR 3/16 X1 1/16

00 3004 30 .010

3010SS

T/P SS SHLDR SCR 3/16 X 1 3/16

00 3010 30 .012

3005SS

T/P SS SHLDR SCR 3/16 X 1 5/16

00 3005 30 .014

ONE WAY HEAD CHROME PLATED THRU BOLT

2001

OWH CP BARREL NUT 3/16 X 1/2

00 2001 72 .007

2007

OWH CP SHLDR SCREW  3/16 X 3/4

00 2007 72 .007

2004

OWH CP SHLDR SCR 3/16 X1 1/16

00 2004 72 .010

2005

OWH CP SHLDR SCR 3/16 X 1 5/16

00 2005 72 .013

ONE WAY HEAD CHROME PLATED BRASS THRU BOLT

1001

OWH CPB BARREL NUT 3/16 X 1/2

00 1001 72 .007

1006

OWH CPB BARREL NUT 3/16 X 5/8

00 1006 72 .008

1009

OWH CPB SHOULDER SCR 3/16 X 1/2

00 1009 72 .007

1007

OWH CPB SHOULDER SCR 3/16 X 3/4

00 1007 72 .007

1004

OWH CPB SHLDR SCR  3/16 X1 1/16

00 1004 72 .010

1005

OWH CPB SHLDR SCR  3/16 X 1 5/16

00 1005 72 .013

THEFT-PROOF STAINLESS STEEL THRU BOLT 8-32

[

REQUIRES TOOL BIT PART #2027. SEE PAGE

USE WITH CAST SS DOOR

HARDWARE ONLY

8320

TRUSS HD PLAIN SS BARREL NUT

00 8320 30 .007

8321

OVAL T/P SS MACH SCR  8-32 X 5/8

00 8321 30 .010

8327

OVAL T/P SS MACH SCR  8-32 X 3/4

00 8327 30 .010

8322

OVAL T/P SS MACH SCR 8-32 X1

00 8322 30 .010

8323

OVAL T/P SS MS 8-32X11/8

00 8323 30 .010

8324

OVAL T/P SS MS 8-32 X1 3/8

00 8324 30 .015

8325

OVAL T/P SS MS 8-32 X 15/8

00 8325 30 .020

3-1-06

25



CONTINUOUS ALUMINUM BRACKETS

PART #

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

THREADED ROD

THREADED ROD, 3/8 - 16 X 4

00 6704 72

.10

THREADED ROD, 3/8 - 16 X 4 SS

00 6704 30

11

THREADED ROD, 3/8 - 16 X 6

00 6720 72

14

THREADED ROD, 3/8 - 16 X 6 SS

00 6720 30

.16

COMBINATION BOLT
3/8-16 ANDLAG 6" LENGTH

00 4166 72

14

ANCHORS

614

ANCHOR, PLASTIC PLUG #14

00 0614 33

612

ANCHOR, PLASTIC PLUG #10 & #12

00 0612 33

412

ANCHOR, LEAD #10, #12 & #14

00 0412 07

7225

EXPANSION SHIELD, 3/8 - 16

SHOE ASSY SCREW PACK DRILL 5/8”

00 7225 60

226

FLOOR ANCHOR
ACADEMY B.E. & S.S. ONLY
SHOE ASSY SCREW PACK

01 0226 60

3811

FLOOR ANCHOR LUG
NORMANDIE OR CENTURY B.E. OR S.S. ONLY
SHOE ASSY SCREW PACK

00 3811 60

3901

SPRING CLIP
SHOE ASSY SCREW PACK

00 3901 60

MISCELLANEOUS FASTENERS

4425

#10-24 X1 1/4 PH CP FLAT HD MACH SCR

00 442572

5863

TOGGLE AND SCREW
USED ON OLDER STYLE TOGGLE BRACKETS

00 5863 07

BOLTS

222

BOLT, LEVELING 5/16 - 18 X 3 HEX HD

00 0222 60

4925

BOLT, LEVELING  1/4 - 20 X 1 HEXHD
FOR ALT 7600 SERIES SHOE ASSYS ONLY

00 4925 07

WASHERS

7050

COUNTERSINK WASHER, 1/4 SS

00 7050 30

3917

FLAT WASHER, 1/2

00 3917 60

566

SHIM FORF-SCR

00 0566 07

NUTS

HEX NUT, 1/4 - 28 FINE THREAD
USED ON 6100 & 7961 BOTTOM DOOR
HINGE ASSY

00 777572

26

HEX NUT, 3/8 - 16

SHOE ASSY SCREW PACK

00 4960 72

3-1-06




MISCELLANEOUS HARDWARE

DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

POST SHOE ASSEMBLY
FOR 1 1/4” SQUARE POST

CHROME PLATED ZAMAC

01576372

.75

3” BXPILASTER FLOOR SHOE ASSY
FOR 3" BX PILASTER

CHROME PLATED ZAMAC

015961 72

CURTAIN HOOK
FOR #153 AND #155 HEADRAIL

00 0777 89

SHOWER CURTAIN, 36" X 76”
USES 6 - 777 CURTAIN HOOKS NOT INCLUDED

WHITE VINYL

00 3676 33

SOAP DISH CHROME PLATED

00 6306 72

BENCH POST ASSY

1-16"S.S.11/4” POST
1-1763-A POST SHOE ASSY

STAINLESS STEEL

01 0001 30

7" BENCH SUPPORT ANGLE ASSY

1-7"8.S. ANGLE BRACKET

STAINLESS STEEL

01 0007 30

16” BENCH SUPPORT ANGLE ASSY

1-16"S.S. ANGLE BRACKET

STAINLESS STEEL

01 0016 30

1 1/4” PILASTER SUPPORT POST

FOR SUPPORTING CENTURY (CEILING HUNG)
11/4” PILASTER TO FLOOR
STAINLESS STEEL

09 1014 30

1” PILASTER SUPPORT POST

FOR SUPPORTING CENTURY (CEILING HUNG)
1” PILASTER TO FLOOR
STAINLESS STEEL

09 1010 30

3-1-06

27



DESCRIPTION

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

SMALL BOTTLE TOUCH-UP PAINT

AIRDRY .60Z
SANYMETAL’'S CURRENT STANDARD COLORS

010691 77

.06

SPRAY CAN TOUCH-UP PAINT

AIRDRY 120z
SANYMETAL’'S CURRENT STANDARD COLORS

010692 77

QUART CAN TOUCH-UP PAINT

AIRDRY 1QT
SANYMETAL’'S CURRENT STANDARD COLORS

CUSTOM COLORS ARE AVAILABLE
CONSULT FACTORY
FOR PRICE INFORMATION

010693 77

GALLON CAN TOUCH-UP PAINT

AIRDRY 1 GAL
SANYMETAL’S CURRENT STANDARD COLORS

CUSTOM COLORS ARE AVAILABLE
CONSULT FACTORY
FOR PRICE INFORMATION

DESCRIPTION

010694 77

SANY #

PRICE ($)

WT (LBS)

ILLUSTRATION

THEFT-PROOF FASTENER BIT
REQUIRED FOR THEFT-PROOF FASTENERS

T-27 W/ PIN

00 0276 07

.01

THEFT-PROOF FASTENER BIT
REQUIRED FOR THEFT-PROOF FASTENERS

T-27 W/ PIN

00 2027 07

28

ONE WAY SCREW REMOVER SET

SET OF 3:
SIZES 6-8
SIZES 8-10
SIZES 12-14

00 8905 72

3-1-06




ALPHABETICAL INDEX

ITEM PAGE ITEM PAGE
ANCHORS ... 26 POST FLOOR SHOE ASSEMBLY........ccccviiiiiiiniiiicccccciee 27
BENCH MOUNTING HARDWARE ASSEMBLY ........ccccccoeeurnnne 27 PULLS, DOOR ..ot 16
BIT, THEFT-PROOF TOOL......cccooiiiiiiiicincccccc 28 PUSH PLATES ... 15
BOLT, COMBINATION ...t 26 ROD, THREADED .......ooiiiiiiic e 26
BRACKET ASSEMBLIES, ALUMINUM.........cccoiiiiiiiiiiees 5 SCREW REMOVER SET, ONE WAY HEAD........cccoeiiiiiennne 28
BRACKET ASSEMBLIES, STAINLESS STEEL... .9 SCREW, FLAT HEAD MACHINE ..
BRACKET ASSEMBLIES, ZAMAC ........cccccoiiiiiiiiieieeeeeee 3 SCREWS, SHEET METAL .....ooiiiiiiiiiceeeeeee e
BRACKETS, ALCOVE.......coiiiiiiiiici e 10 SCREWS, SHOULDER .......cooiiiiiiiiicieeeeeee e
BRACKETS, ALUMINUM ......ccooiiiiiiiiic e 4 SHIM Lo 26
BRACKETS, CONTINUOUS ALUMINUM........cccooiiiiiiiiiie 6 SHOE ASSEMBLIES, ALTERNATE PHENOLIC PILASTER.....23
BRACKETS, CONTINUOUS STAINLESS STEEL.........cccuc...e. 7 SHOE ASSEMBLIES, ALTERNATE POLY PILASTER.............. 23
BRACKETS, DOOR HINGE SHOE ASSEMBLIES, B.E. AND S.S. PILASTER
BRACKETS, HEADRAIL ASSEMBLIES..........ccooviiiiiiiiine 11 SHOE ASSEMBLIES, PHENOLIC PILASTER .......cccceoiiiiinne.
BRACKETS, HINGED ......ccccoiiiiiiiiiicicc 10 SHOE ASSEMBLIES, PLASTIC LAMINATE PILASTER............ 22
BRACKETS, STAINLESS STEEL .......cccccoeiiiiiiiiiiiiicicie 8 SHOE ASSEMBLIES, POLY PILASTER ........cccociiiiiiiiinne 23
BRACKETS, ZAMAC ...t 2 SHOES, ALTERNATE PHENOLIC PILASTER.......c.ccccceviiinne 23
BUMPERS ..o SHOES, ALTERNATE POLY PILASTER..........cccoociiiiiiiine 23
BX PILASTER FLOOR SHOE ASSEMBLY, 3" ... SHOES, B.E. AND S.S. PILASTER .......cccoiiiiiiiiiiiccc 22
CAPS, END ....oooiiiiic SHOES, PHENOLIC PILASTER.........ccooiiiiiiiiiccce 23
CLIP, SPRING.......cooiiiiiiic e 26 SHOES, PLASTIC LAMINATE PILASTER ........ccccooviiiiiiinne 22
COAT HOOKS......cooiiiiiiiic e 15 SHOES, POLY PILASTER......cciiiiiiiiiieicc e 23
COMBINATION BOLT ...t 26 SHOWER CURTAIN ... 27
COUNTERSINK WASHER.......coiiiiiiiiececee e 26 SPRING CLIP ..o 26
CURTAIN HOOK, SHOWER ........cccooiiiiiiieceeee e 27 STOPS, DOOR ..o 16,17
CURTAIN, SHOWER.......ccoiiiiiiiiie e 27 SUPPORT POST, PILASTER........cccoiiiiiiiieieeececeeeeee 27
DOOR HARDWARE ASSEMBLIES, ALUMINUM....................... 20 TABLE OF CONTENTS ... 1
DOOR HARDWARE ASSEMBLIES, STAINLESS STEEL........ 20,21 THEFT-PROOF TOOL BIT ...t 28
DOOR HARDWARE ASSEMBLIES, ZAMAC............ccccecuinne 18,19 THREADED ROD ..ot 26
DOOR KEEPERS ..o 16,17 TOUCH-UP PAINT ..ot 28
DOOR PULLS......coiiiiii e 16 WASHER, COUNTERSINK ... 26
DOOR STOPS. ..o 16,17 WASHER, FLAT ...t 26
FASTENERS ..o 24 - 26 WASHERS ... 26
FLAT WASHER ..o 26
FLOOR ANCHOR......coiiiiiiiii s 26
FLOOR ANCHOR LUG ......ciiiiiiiiiiii 26
HANDLES, DOOR. ..ot 14
HEX NUTS
HINGES, DOOR .......c.coiiiiiiici s 12,13
KEEPERS, DOOR.......coooiiiiiiii e 16,17
LATCHES, DOOR ..ot 14
MISCELLANEOUS HARDWARE ........cccooiiiiiiiieiicicceecee 27

3-1-06

29



academy normandie
FLOOR MOUNTED OVERHEAD BRACED FLOOR MOUNTED

century floor to ceiling
CEILING HUNG FLOOR TO CEILING MOUNTED

30

type A type C type F type BX

WALL HUNG FLUSH WALL HUNG, BRACKET WALL HUNG WEDGE FLOOR MOUNTED
B.E.AND S.S. ONLY SUPPORTED B.E.AND S.S. ONLY

3-1-06




